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CO-ORDINATE GEOMETRY

Introduction:-
- Rene Descartes a French mathematician
introduced analytical geometry. It is a method of

studding geometry using coordinate system.
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—» Distance between two points Alx; , vy}, B (x; ,
¥a) is a.u"r{-"'-'z -2 +0n-n)

—» Distance between origin and a given point (x.y)
isJx2+ y?

—>midpoint of two points Alx, , Y,), B(xy, y2) is
(J-'l +I W "'."’.!}

- LR
—3 Slope of two points Alx; , Y,), Blx; , y:) isi!:il

Equation of two points A{x; , Yy) , B{xz, ya) is y-y; =

o L
(.::;_.:lh) [I Ii}
—» General form of linear equationax+by +c=0

—+ Slope of a line:- if a line makes an angle of 0°

with the positive direction of x-axis then tanb is
called the slope of the line.
Eg. 60° here slope (m) = tan 60° = V3

—+ A ( x;, v;) and B (x;, y;) are two points if a point
P divides AB internally in the ratio m:n then the co

ordinates of P = ("“f b mr;+ny.)

m+n | m+n

Xz +1Xy '"J"..:‘“I‘I.)
m+n @ m=n

—» Externally means (

—» if P,Q are points of in section of AB then P
divides AB in the ratio 1:2 and Q divides AB in the

ratio 2:1 . - - .
A -] Q 2]

-» Area of A ABC = % |y (¥2 = ¥a) + x3(y3 -
1) + 2300 = ¥2)l

—» If three points are collinear then the area of the
triangle is O on same line also area of A ABC is O

—» I (%, Y1), (%, ¥2) (X3, vi) are the vertices of a

H " s Xy #X3%X + * H
triangle then its centroid G=( =575 Atk y‘) it

3 3
is divided into 2:1

—» Let A (x; , Y;) B (x; , y2) and C (x3 , y3) are the
vertices of a triangle AABC then AB =C; BC = @ and

= b and S g A then area of AABC =

,,."5(5 —a)(s — b)(s —c) this is called Heron's
formula

—3 Slopeofan +by+c=01s - ab

— perpendicular slope of ax +by + ¢c=0isb/a

— Two intercept ﬁ:mn'i : ) % =1

—» ¥ point (x, , Y;) and slope = m then equation is

y=yi=mx-x)

—» Slope of 3 - axis is 0 — slope of y — axis is not
defined

—» equation of ¥ - axis is|¥ = 0| —» equation of y -

axis is[x = 0]

1) Find the mid point of the line segment joining
the point (-5,5) and (5,-5)
Sol:- Given A(-5,5) ,B (5.-5)

T'I"||_ n:. & Y

§+ Xy y,.+].'4 l-'n- 5= 5]
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2) Find the distance between the points (0,0) and
(a,b)

Sol: distance between origin and point is  x* + },1
Given 0 (0,0) and a.b)

S

0A =,/(a)? + (b)* =va® + b*
3) Find the centroid of a triangle, whose vertices
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Find the value

are (3,4), (-7,-2) and (10,-5)
Sol: Given A (34) B(-7.-2) C (10,.5)
Y1 Vi 1 Ya ¥

G = (Il‘“".r”-'.l J'L"'J"E*’J-":l)
3 ' 3
C = (3-1-[—?}1-!“ -|-+[—.1]+[—5]) = (3—?+Iﬂ 1-—2—5)
h : 3 N 2 T3

G=

i | T, 1
|
g
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4) Explain the characteristic of a line passing
through points (-5,2) (0,2), (3,2) (5.2)

Sol:

Given (-5,2) (0,2)(3,2)(5.2)

All the points lie on straight line and parallel to x-
axis at a distance of 2 units

5) Determine x so that 2 is the slope of the line
through P{2,5) and Q (x,3)

Sol:

Given slope (m) = 2, P(2,5), Q(x,3)
Sh:r;:ual:n'nl-M 2 =E=:-E{x—2]= -

=]

22x—4=-2=2x=-2+4+4=2x=2

= X — = | s value of x =1

Zz

6) Where does these following points lie justify
your answer (0,-3) (0,-8),(0,-6) (0,4)

Sol: All these points lie on y — axis because x-
coordinate is zero.

1) Two verties of triangle are (3,2) (-2,1) and its

centroid is (5,’3 ._1,.’3) find the third vertex of

the triangle .
Sol: Let the third vertex = (x,y)

(3,2) (-2.1) (x.v)
X1, LETR | Xs: Y

(11 +X54Xy _}'i +¥5 +}r-,)
3

[ _Ij'ra} {‘.'I itx .*+]+_'|-]
(%3

_]lfr.‘} 14X ]+1}
1+x _'5 i+y -1
F 2 3 3
1+x=5 and 3+y= -1
x=5-1 y=-1-3
x=4 y=-4

.. Third vertex = (4 , -4)

2) If the distance between the two points (8, x)

and (x,8) is 2+/Z units, then find the value of x
Sol:
Given distance between (8 ,x)and (x,8)is V2

X1 ¥i X2 ¥z

AB = J(x; = )2 + (y =y, )2

Here AB = 2v2
22 = J(x -8)2 + (8 - x)?
5.0.5

(2V2) = [JG=87 + B—x)7| =4x2
= (x=8)"+(8-2x)*
= 8= x*+64-16x+ 64+ x* - 16x
=B8= 2x*-32x + 128
= 2x*=-32x+128-8=0
2 2x?—-32x+120=0 = 2(x*-16x+60) =
0
= x‘=16x+60=0=x°-=10x - 6x + 60
= ()
= x(x=10)=-6(x-10)=0= (x - 10)(x — 6)
=0
x=10=0(or)x—-6=10
x=10(or)x =6
J. The value of x = 10 (orl6

3) Show that the points A(-3,3) B (0,0), C(3,-3) are
collinear
Sol: Given A(-3,3) B(0,00 C(3 -3)

Xy 'II':l A3 ||I'_;| L 'ﬁl‘;
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of ‘x’?

Area of AABC

= 'rtl{}'. ¥a) + xg(yy =¥ ) + x50y, - .'”;

Area of AABC = -|—3(u ~(=3)+0(-3=3) +
3(3 - 0)|
1
- |=3(3) + 0(—6) + 3(3)|
=§h9+n+m
s I
= E|{}| =

. Area of AABC =0 i.e given points are collinear

4) A (1,2) B(4,y), C(x,6) and D(3,5) are the verities

of parallelogram taken in order find x and y

Sol: Given A(1,2) B4y C(x6 DI(3.5)
From the figure % vy X Xaws X; ¥z
D C
(3.5) (x,6)
% B (a,y)
(1,2)

Midpoint of AC = midpoint of BP

{1'1”-': }'LU'.') s (11*12 J"l*J-’:)
- VRO - LTV

I-I-.t' 2+E|-) (4+J 4+5

zl =EEH'L1E=-.2‘_.
I+'1r—land£—'lr+:i
2 2 %2
x=7-1 and y=8-5
xX=256 y=13

S valueofx=6 andy=3

1) The points C and D are on the line segment
joining A (-4,7) and B(5,13) such that AC = CD =
DB. Then find co-ordinates of points Cand D

Sol: Given A (-4 ,7) B(5,13)

Let C and D be the points of trisection of AB

- . . [
A C D B
(-4,7) (5,13)
X1 ¥y X2¥2
i.e AC=CD=DB

C divides AB internally in the ratio of 1:2

Xy 41 FI}"IHI}',)
m+n ' m+n

By using section formula (

C= ('[5}+2t~411 1(13}1-2{?])
142 1+2

{::(5+;—E}'I3+14)_‘__ '_;_,.Ia | ia

3 2 W B
C=(-19)
D divides AB internally in the ratio -]
”_|, 25)+1—4) 21+UTY)_(10-4 2647
N 2+t U 241 J L3 T3 )
1 (1]
A A3
D=|=,=|=(a1])
. |

. Point of trisection are (-1,9) and (2,11)

2) Show that the points (1,7) (4,2) (-1,1) and (-4,4)
from a square then find its area
Sol: Given A (1,7) B (4,2) C(-1,1) D(-4,4)

Dist.b/w AB = /(x; — x,)* + (y; — ¥,)?

D C
A B
AB= J(4-1)2+(2-7)2=J(3)2 +(-5)2
=9+ 25 =34

BC=,(-1-4) 4+ (-1-2)=
v(=5)2 + (-3)?

=v25+9 =34
CD= J(-4+12+ (4 +1)2=(-3)2+(5)?
=194+ 25=/34

DA=(-4-1)2+(4-7)2 =
V(=5)% + (-3)?

aé‘
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=25+ 9 =34
AC=
J=1=-132 4 (-1=-7) =,/(-2)? + (-8)?
= v4 + 64 = V6B
BD\(—4—4)? + (4 - 2) =,/(-8)? + (2)*
= V64 + 4 = V6B
+AB=BC=CD =DA= V34 and

AC =BD =68
', Given vertices are square
Area of square =s x5 =v34 x 34

2
= (V34) = 34sq units
3) The Area of the triangle is 18 sq units whose
vertieces are (3,4), (-3,-2) and (P, -1); then find
the value of ‘p’
Sol: Given, A(3,4) B(-3,-2) C(8-1)
Xy Yy X2 ¥z X3 Y3

Area of AABC = 18 sq. units A3.4)

B c
(-3, -2} (P, -1)

Area of A ABC ==|x;(y; = y3) + %, (ys — y1) +
x3(y1 = y2)l
18==13(-2 + 1) + (=3)(=1 — 4) + P(4 + 2)|

18 x 2 = |3(—1) — 3(=5) + P(6)|
36=|-3+ 15+ 6P| = 36 = |12 + 6P|
=6P+12 =36

6P =36—12 = 6P = 24

=P=—=4  valueofP=4

4) If the hinw P(-3,a) , Qla,b) and R(4,-5) are
collinear and a+b=1, then find the values of a and
b

Sol: Given P{-3,a) Qla.b) R (4,-5) are collinear

- Areaof APQR=0
1
El'r].[.]"l - Y+ (s =)+ 30 =y)l =0

2|-3(b +5) +a(~=5-9) + 4(9 - b)| =

|

E|—3b—15—14u+3ﬁ—4b| =0

=|-14a~7b +21| =0

l14a+Th=211
£

= ()

= 14a+7b—-21=0
= 72a+b-3)=0
=da+b—-3=0
=2a+b=3......(1)
Givena+bh=1 ... (2)
Solving (1) and (2)

2a+ =3
a fﬁ‘__l

i Y.

Substitutinga=2in eq (1)
2(2)+b=3

4+b=3

b=3-4

b=-1] la=2
valueofa=2andb=-1
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1. 505Rse8 oF B0 8od & 78 H0v &8 HoYwod?
1) A8
3) 220b
2. 808 S8 SHD 53R, OO0R?
1) Input, out put, process, storage

2) s00&
4) o003

2) process, out put, Input, storage
8) process, storage, Input, out put
4) Input, process, out put, storage
3. BEROPY, VEOOW W), DBRTPEOMm HPGERR),
BORs0D 2R O Do HenaRdd>?
1) compiling 2) importing
3) exporting 4) processing
4. 808 B 5050 VoHSR HID HYoWSod?
1) aSHE &us%sEo
2) ‘éogo‘ﬁaom s5%QosEo
3) [@P20h BoHEo
4) PHERE adgto
5. 50Rs&D 5¢ HOBnemeen HI0L?
1) 98¥ 30EoS® Ba207°Q) densd BahHio
2) 26(3@38?@0@3’53 ENBER0S Besg’g 835qe0
3) SrLHQ Bo& SKorre @0l Do
4) 25
6. ©BPISRD 156> OHoBOTR BR), HE?,0878?
1) Analytical engine
2) Difference engine
3) Abacus
4) Calculator
7. 800 PSP 0eRsER JoHBR s & tHYooR?

1) gis3sSo 2) Jdogedo
3) é?géé@:éo 4) é%%wo@o
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1) o8 SomgeoS 2) 8% erdld

3) wod eaﬁ?géoﬁ

4) PGS FdE
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3) 1946 4) 1945
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1) Bo& S0 2) S’ $80
3) Teenf® 8o 4) & $80
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1) X6 Sogrgesl

2) So8® Yol

3) Roowd B Logrgead
4) 208 BoZrgsl

12. 2PBSS° HBO [P OB O?

1) X965 Sogrgesl

2) 8RS 50@5@6

3) Roowd B Logrgead
4) 208 BoZrgsl
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3) DD 4) svegz‘f) R0508

DD H5PID &HEBEPOD EoIR00H DOm0

BONGDE SHRARIHBD?

1) Address bus 2) External bus

3) Data bus 4) Control bus
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1) Address bus 2) External bus

3) Data bus 4) Control bus
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3) TFT 4) BIOMETRIC SENSOR
B00RBS8 WZOT OFTOK HU,FRS SHBRIDHE
508 PHEe0?

1) 333(35 2) S'°§

33. 2o S, 8od HeemPd SDCHE R ?

34.

35.

36.

37.

39.

40.

1) Characters per second

2) lines per minute

8) pages per minute

4) 25

2085 TR0 BDD HFPE0 HD?

1) Characters per second (CPS)
2) lines per minute (LPM)

8) pages per minute ( PPM)

4) Dots per inch (DPI)

BoR 50868 PABoMm 50638 5DD0T DR &
DPOMR DLV ?

1) 2885 2) ©§3§ ETrPeN
3) 30 4) 56536
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1) Seefses, SooGosssisn
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3) Qendl Vit

4) CPUS es060858580

&e2b PotB w550 80D H H0eeeR BevHHN?
1) LPM 2) PPM
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. Non-Impact P00 808 H D28 &resTeteets
BH,B?
1) aldHE 2) @cféa%
3) ©HEHES 4) @=d20R
USB ® 230050..

1) Unicode system bus

2) Universal system bus

8) Unicode smart bus

4) Universal serial bus

MPEG ® 93005mw..

1) Moving picture experts group
2) Multiple picture expert group
8) More picture expert group

4) Mini picture experts group

1-4 24 34 42 54 63
7-1 82 92 104 11-3 12-1
13-4 144 153 164 17-1 18-3
19-3 20-4 21-3 223 23-4 24-3
25-1 26-1 27-1 282 292 30-4
31-3 32-1 33-4 344 354 36-1
37-3 38-3 39-4 40-1



